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/50 Point Possible
Directions:  As you read Chapter 5, which starts on page 104 of your textbook, answer the following questions.
Would You Believe…?
1. What happened when a Chinese Fisherman took two gold-tinged carp home?
a. The fish fought, and the more brightly colored fish won.

b. The fish reproduced, and the offspring were more brightly colored than the parents.

c. The fish reproduced, and the offspring had a very drab color.

d. The fish could not survive in captivity.

2. Early goldfish breeders were using the principles of _________________________ to create new types of goldfish.

Section 1: Mendel and His Peas
3. You don’t look exactly like anyone else, unless you are an identical twin.  Why do you think that is true?
4. How does heredity explain why you don’t look like a rhinoceros?

5. In the garden of a monastery, Gregor Mendel studied how heredity happens by traits being passed from ________________ to _________________________.

6. Mendel noticed that

a. all of the parents’ traits can be seen in their offspring.

b. only plants have traits that don’t appear in some generations.

c. sometimes a trait will not appear in a generation.

d. all traits appear in every generation.

7. What is a self-pollinating plant?

True or False

8. _____________ Mendel chose to study several traits at one time to get as much information as 

possible.
9. _____________ In Figure 4, wrinkled and round are the two traits shown for the characteristic of 

seed shape.

10. _____________ If it self-pollinates, a tall true-breeding plant can produce short offspring.

11. _____________ In cross-pollination, a plant’s anthers are removed and it is fertilized with pollen 

from another plant.

12. Look at Figure 6.  What happened when Mendel crossed plants that had round seeds with plants that had wrinkled seeds?

13. For each characteristic, Mendel called the trait that always appeared ______________________ and the trait that seemed to disappear ________________________.

14. When the first generation of plants was allowed to self-pollinate, as shown in Figure 6, 

a. All of the offspring had the recessive trait.

b. Some of the offspring had the recessive trait.

c. All of the offspring had the dominant trait.

d. The first-generation plants could not produce offspring.

15. Mendel counted the number of plants with each trait in the ______________________ generation.
16. Take a minute to read the Math Break on page 110.  In the table of Mendel’s results, the dominant-to-recessive ratio for each trait is

a. about 1:3
b. about 3:1
c. about 1:2
d. about 2:1

Choose the term in Column B that best matches the phrase in Column A, and write the corresponding letter in the space provided.

	Column A
	Column B

	_____ 17. used to visualize the combinations of alleles from the parents

_____ 18. the inherited combination of alleles

_____ 19. the organism’s inherited appearance

_____ 20. sets of instructions for inherited characteristics


	a. genes

b. Punnett squares

c. Genotype

d. Phenotype




21. Look at Figure 8 on page 112.  What combinations of alleles will result in plants with purple flowers?
22. The probability of tossing a heads on a coin is 50% for each flip because it has two sides or possibilities. What is the probability that you would toss two heads in a row with a coin is _____________ percent.

23. Were Mendel’s ideas immediately accepted by the scientific community when he published his results?  Explain.

Homework: (due tomorrow)
24. The allele for a cleft chin, C, is dominant among humans.  What would be the results from a cross between a woman with the genotype Cc and a man with the genotype cc?  Create a Punnett square showing this cross.
25. Of the possible combinations you found in question 24, what is the ratio of offspring with a cleft chin to offspring without a cleft chin?

